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FA SN A
HE: AlDI0] OIEGHs BRSY T4
ool TR 2R (o &2
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
OLAKFEE RAI2CISA
219,974,000 *0.72% 1,584
OLEANFEE FA&2ISA
210,920,000 +0.72% 1,519
STANE= 2 5,609,319 4,736,859 872,460
F=ae] 495,632 1,971,994 A1,476,362
206 =4 112,500 249,950 A137,450
01 =4l 112,500 249,950 A137,450
OXF48 L M0 MBZXE HIZ 2Y(S8
HZ 2 28) 10,0002 %1,500% 15,000
O4+2 9,015 +H3=8 %X 2
,000,000& *52 15,000
OEgzd 3ild A3 30l &
10,000& +3,000=2 30,000
OIS HE 0tdst 72¢
5002 *20,0002 *22] 20,000
OdHlE == AlUF & 5,0008+6,500= 32,500
401 A EHIL LY 383,132 1,545,770 A1,162,638
01 Al&Hl 380,000 1,534,322 A1,154,322
OMoHAS == MHSA 300,000& x200== 60,000
S W =X ZuISA
50,000,000 29 2 100,000
OLAIS 014 & SRATHBA
300,000 200 60,000
OYsE5+3& JHNE &XI3A
2,000,000 *80m 160,000
03 AlZ=CHYI 3,132 11,448 8,316
OMali?&+== MHSAH  60,000,0002«0.9% 540
S U =AU ZHISA
100,000,000 *0. %% 900
OYAIS 0|4l Y 2SATHBAF
60,000,000 %0. 9% 540
OdsS=+E3 JHHE EXISAt
160,000,000 0. 72% 1,152
A& 2] 3,383,790 1,484,782 1,899,008
201 &er=gll 375,166 297,565 77,601
01 AtR2teiH| 273,300 240,970 32,330
OS2U HIIEX ===
50,0002 x75= 432 15,000
OSZANERINESE HHIEXE
500,000& *30&! 15,000
Osd ZMRAE =%, 82= A
35,000 * 15071 2 +23 10,500
OBRACHHE, LSEX B HE &3
1,000,000 *107H £ 10,000
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2A:

X‘I iH:

cre|

SEAS A

AI2I0| BIEGHe 2RBY X4

: ﬂOJ/\I/\_“:n —,|,E|

SA - HH SR (B) - MRAY - BAS il &t e imE=T
Ozd 84z MADIZE 7o
3,420 x20000 2+ 1500 x 12 123,120
OS3StEA HIXIZ &K 72
3,000& #8401 A=+ 1E+365 91,980
OO el0I=0IAIE EI1 Z At
350,000 2204 2~ 7,700
02 S22l 101,866 56,595 45,271
O3& el EHl |X2eldl
150,000 +60CH *23! 18,000
OOIEXt 2tels Xl 300, 000 *3CH 900
O3dz=ZE HMIIX 2el= Xl
900,000 *2CH 1,800
OZ&stEa |22 200,000 841 2~ 16,800
OZFAE ®sX2altl 200, 0003 2271 2~ 45,400
O3JdEex HAx2T
14,6502 *6E+51I %23 8,966
OL= &% II&EA 218 574
500, 000& 203 10,000
203 ZR=&d] 2,400 2,000 400
03 AIBFXARZ=EY| 2,400 2,000 400
O3&dzel gRFA 200,000& *12& 2,400
206 M=Hl 126,200 112,630 13,570
01 M=zl 126,200 112,630 13,570
OZEAE B MM 2|
300, 000 #2274 2 68,100
OLZAE =H2E HUE FHH|
5,000&*100 £ *7& 3,500
OZ¥ Zelddl & Ea&7 F#H 30,000
—2el &yl 500, 0002 *3&+10H 15,000
—EAEF 10,000 103+ 1504 15,000
OZ&s& RAZCIE XM 2|
30,0003 *5Z*84H 2 12,600
OS3=0lH EHl2 2 2yl
40,0002 20 m" *QH A 7,200
Od YR =Sete ]
240,000 x4 *5IH A 4,800
401 AlZHIZ20HH| 2,860,524 1,057,932 1,802,592
01 Al&Hl 2,840,004 1,050,930 1,789,074
O3 W A4 ZHISA 380,000,000& 380,000
OBt 3d 2|2 B A 500,001
— & AEAYI 483,606,000 *3.3% 16,395
—Al&H| 483,606,000 483,606
OEZISA IS A 300,001
— & AIE AL 289,213,000 *3.73% 10,788
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2A:

SEAS A

& ABI0| BtHols SEEE =4
Chel: SFAEES 22 (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
— A&l 289,213,000& 289,213
OL2233 2L SA 300,001
— & AEAYI 289,213,000 *3.73% 10,788
—Al&H| 289,213,000& 289,213
SANSE SISL S A 500,001
— & AIE A 483,606,000 *3.39% 16,395
— Al&HI 483,606,000 483,606
OAOIXNSY Helol=0IAE EBISA
70,000,000& *7IH 2~ 490,000
OXAXNS O2l0I=0IAIE EHIS A
70,000,000% 300 & 210,000
O2EXYE Hel0I=0lAlE ZHISA
70,000, 000% 204 2~ 140,000
OEANXL s& ZEESA 20,000,000& 17 2 20,000
03 A& 201 20,520 7,002 13,518
S W =FAI4 ZHUHISA
380,000,000 *0.72% 2,736
Ot =3 2SS A 500,000,000& *0.72% 3,600
OFTEA 2SS AL 300,000,000& *0.72% 2,160
Ogsolzd 2T Al
300,000,000 *0.72% 2,160
ORXINS& cI2LS A
500,000,000 *0.72% 3,600
OAO0IXNSY Helol=0IAE HEBISA
490,000,000&+0.72% 3,528
OXAXNS OEl0I=0IAIE EHIS A
210,000,000 *0.72% 1,512
O2EXY Hel0l=0lAlE ZHISA
140,000, 000& *0.72% 1,008
OYAMX s& ZEZA 20,000,000& *1.08% 216
405 XHabF SHI 19,500 14,655 4,845
01 ML =SESFH = 19,500 14,655 4,845
OSLIE(4+4, 82) 2¢ 19,500,000& *1CH 19,500
&I H 2kl 408,993 1,280,083 A871,090
201 2Bt 80,453 943,421 A862,968
01 AtR2eltl 44,853 400 44,453
O&EJ|tX 2| AU =2 (2%)
110,000 x4 A+ 12 5,280
O3& HIIANEE ot™ Z A 33,573
—JIEgz 42,000 *307H 2 12,894
—dAME 6,800&+3,041= 20,679
O=2=0 £ &IIAILZ 0l 2t &XIdl
200,000 304 A 6,000
02 B2l 35,600 943,021 A907,421
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2A:

SEAS A

. AIRIO| Bt=ote SRSE =4
ol ZRAALE 22 SRR
SN BB SI(E) - HIRAY - B e HlmE2
OO0 sAlZeldl 600, 0002 *51JH A 30,600
ORIINES STBA NNAE
200, 0003 #2500 &~ 5,000
206 THZHI 76,200 76,200
01 M=l 76,200 76,200
OUss4+3d +Hel HAE 2
2,50 5,000
O2ots sRl&el A 72 48,400
—Rag80ts HSEZI| 110,000 *5004 5,500
—NdEAYBHHE A XEDI] 60,000 30004 18,000
—8ots oHED| ¥ #E 50, 000-& *300H 15,000
— AT 33,0002 *300H 9,900
O3 ZAJF3xgg SI|7 72 6,400
—CISBHIZ(1kW) 1,000,000 *504 2~ 5,000
—CISOHEI[ (1kW) 280,000& x5 2~ 1,400
Ost&A X2l MMM 2 6,400
—HI(MANS, 825 S) 50,0002 *5004 2 2,500
—&232J| 20,0002 *5000 2~ 1,000
—HE=E5IH 290, 0002 1070 2 2,900
Oz sA&els A 10,000
L= 200, 0002 404 8,000
—JIEFKHH (sus pipe, sus cap)
50,0003 *40H4 2,000
401 A&EHIZ20Hb] 252,340 252,340
01 Al&HI 250,000 250,000
SEU 200 JIH4 Zl L 3 A
25,000,000 401 2~ 100,000
O3 ==20tS WHMBAt
20,000,000 *501 2~ 100,000
O3% Bots 212 ZUISAt 50,000,000& 50,000
A& LI 2,340 2,340
O 20 JIH4 Ul L LT At
100,000,000 *0. 9% 900
OZ3U ==20tS WHMBAt
100,000,000& *0.9% 900
O3 2Bots 218 HHISAt
50,000,000& *1.08% 540
EhlE] 411,701 411,701
o124l 411,701 411,701
JIZtHZ22XSE 411,701 411,701
OJIZtH 22 At 365,310
A== 36,000& *33H 200 237,600
-5 36,0002 *33H 36 42,768
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2A:

SEAS A

I Al2I0] BHSots BEEE &4
tel: SIANES 22 (9] &
SA - F SR (EH) - NPAY - BYS 0l & o e DS

—g¥IZ2sH 61,5002 33 +362 73,062

— X 36,0002 33 +10&) 11,880

OJIZtM22 Xt 4022 43,619

— & EE 365,310,000 *33/1,000 12,056

—1ESE 365,310,000 %13/1,000 4,750

—=0%= 365,310,000 *45/1,000 16,439

—A2A2E 365,310,000 *26.65/1,000 9,736

—LOEIIQAEE  9,736,000&+65.5/1,000 638

OJI2tM22 X 1II=h| 2,772

— X Yst 40,0003 *33% 1,320

—&g2 10,0002 »33& 330

—QHE =T 10,0002 »33& 330

-9 15,0002 »33& 495

— &35t 9,000& *33H 297
AEEH sX2el 909,203 0 909,203
201 LEt22H| 909,203 0 909,203
02 324l 909,203 0 909,203

Ostdiid 2= 4,440

A=Y, 120,000 x6CH*22] 1,440

—AN&S 500, 0003 34 2 +23] 3,000

OXtsxt =Xzl 22,020

— XS A 170,000 604 1,020

—AsSIEEE 500, 000& *6CH 3,000

— X2 Al (=2, 7. A= S)

3,000,000 «6CH 18,000

Oxste=a 100,000& 122 1,200

Oz dtl2el ==l 19,674

—Fe= 1,632 %6 £ x52CH x30Al 2t 15,276

—2g 6,000& *260 £ <22/ 3,120

3% 1,420 +5 £ =180 1,278

Ozdacl 332= E MAl 861,869

&= 493,293

lEes 5,270 »12kW=266 i x 128 201,863

ANERS 832 %1, 100kW*266IH x 1228 291,430

—& .otk 322,560

SRS 680 «160=+ 1501 128 195,840

otz 4403 x160= 1500« 12& 126,720

—XNot=2= 4403 *1,743E+5 2+ 123 46,016
BHS AL (AL L) 3,519,209 3,716,878 197,669
I 2| 3,373,024 3,590,503 A217,479
=gl 3,520 3,520 0
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SA: BRAAMEL
3 HH2IIHI(SEAE D)
el ol | (o &2
SA B ER(S) - MRAE - BaS Of &r e HIDE
203 =&l 3,520 3,520 0
02 HIRERFab] 520 520 0
OZ 3 HR = 40,0002 13 520
04 FAE2IERFAHI 3,000 3,000 0
ORAN=E R 250,000& 122 3,000
kala] 3,369,504 3,586,983 A217,479
101 124 3,361,504 3,579,783 A218,279
01 2= 31,707 30,446 1,261
O =22+ 31,707
-5 9,796 »1H 28| 2t 12 3,292
—6=2 8,312& x3Z #2812t 12 8,379
—72 7,457 x2Bx28AI 2t x 123 5,012
—83 6,682 2 *28AI 2t 12 4,491
—9=2 5,993 2«2 *28A| 2+ 12 4,028
—Jis8s 6,682 x2H 28| 2t 12 4,491
—JIs%= 5,903 » 1 *28A1 2t 12 2,014
02 JIEtAE S 16,060 22,832 NGB, 772
OHJIE =2 2P=H
6,863 *x13E *15A| 2k* 122 16,060
03 RIHAAZZNE S 3,313,737 3,526,505 N212,768
o2& 2,934,371
—Jza 1,197,000& 698 x 122 991,116
—d0i=s 351,279
JE=¢ 848,500 x69& 42| 234,186
d2=+¢ 848,500 *69 & *23| 117,093
—S+gfsg 90,0002 x69& » 12 74,520
— YA +g 70,0002 69 122 57,960
— Qi x==g 62, 1902 69 x 192 81,532
—ZU22E 444 107
CAIZERIZ2 R
11,6603 x690E 222 x 122 212,39
SL2PY 93,280 +698 x32L* 122 231,708
—gdz2z+g 46,6402 x69H x3 x12E 115,854
—ItE=E 66,240
BH <= Xt 40,0002 «69& 122 33,120
ZHIS 20,0002 698 2 122 33,120
-85 20,0002 #30& »12& 7,200
— LSS HEXEEH] 150,000& x 1« 122 1,800
—Sc|=4H| 281,520
R =Eal] 90,0002 x69& » 12 74,520
nSE x| 140,000 69 x 122 115,920
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M SEAEA
HH: PR (BAYL)
Chel: oA 2| (el &)
A" G(3) - MPAY - B Ofl &t e HIDE2
- JHAHI 2 & H| 110,0002 x69 «12& 91,080
— M e 848,500 x69Y *53| 292,733
—HESTFIHI 1,018,200 x69Y 23| 140,512
—&d=sk=g 7,920
= 60,0003« 1E 123 720
grE 40,0003 *15H +12& 7,200
—XEEHIE XY 20,078
L 51,9903 69 *0. 19 43| 2,727
SsH 419,090 x69H 0. 15H *43] 17,351
O3d2eld U228 = 350,353
—&MTHEE 2,934,371,000&+33/1,000 96,835
—1EEE 2,934,371,000&%13/1,000 38,147
-0z 2,934,371,000&*45/1,000 132,047
—H2LEE 2,934,371,000& *26.65/1,000 78,201
—LoAIIQALEE
78,201,000 *65.5/1,000 5,123
O3&2eld 1=l 23,943
)l 25,0003 +69H x2H 3,450
— &5t 40,0003 +69H 2,760
— A2 10,0003 *69Y 690
-9 15,0003 *69L 1,035
— &3t 9,000 *x69H 621
—YetE 10,0002 x69H 690
—get= 60,0003 *69H 4,140
—=ue 10,0003 *69Y 690
—25tst 35,0003 x69LH 2,415
—HEZ 300& *30Z 69 123 7,452
O=3zteld d&X ASXI2H|
15,0003 *69H *23 2,070
O3a&e|ld FEHEAL BA3(s2H £ 2
AE) 500,000 x6 % 3,000
301 LerEAE 8,000 7,200 800
12 JIEt2 43 8,000 7,200 800
ORY S22 FESH MHAIE
500,000& x16H 8,000
J23l 146,185 126,375 19,810
st o] 127,465 107,655 19,810
201 et | 127,465 107,655 19,810
01 AR 22l 126,640 106,830 19,810
ORN2Y JI2AY) 15,600
— Y Et=ZH| 50,000 x13H 12 7,800
—= 2l 50,0003 *13H +12& 7,800
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A SEAEA
MR BHSAAY (AL L)
chel: D123l (et &3
_ - PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
OSAD| Xtz 120,000& #2CH+ 122 2,880
Ogzlsg(3ads) 107,200
—=3 50,0002 x4 3652 73,000
-2 50,0002 x6E *114 34,200
Ost=0XE AdYS AIEE
20,0002 =404 =123 960
02 2324l 825 825 0
ORERs 825
—gpd 2503 10021+ 123 300
—SJ|IRH 1,750&+30024 525
oyl 18,720 18,720 0
202 Ol 18,720 18,720 0
01 =U0bI 18,720 18,720 0
PRFEI|=0H 120,000 x13H x 1228 18,720
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